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Q1. Solve the following: 

1. Find the following sum: 

(a)  46,305 + 31,490  (b) 8,12,921 + 6,15,384 

2. Subtract and check your answer 

(a) 93,876 from 8,05,346 (b) 2,79,989 from 15,08,917 

3. Find the product 

(a) 3,45,167 x 248   (b) 89,264 x 315 

4. Divide and check your answer. 

(a) 76,948 ÷ 32                         (b) 4,20,534 ÷ 127. 

5. A factory manufactured 1,75,820 red pens; 96,450 blue pens and 1,45,615 black    

pens. How many pens were manufactured in all at the factory? 

6. The population of city A is 2,56,410, the population of city B is 3 times that of city A     

and the population of city C is half the population of city B. What is the population of 

cities B and C? Which city is most populated? 

7. The product of two numbers is 4,51,92,966. If one of the numbers is 3,549, find     

the other number. 

 8. The cost of 1 washing machine is 28,000. What is the cost of 12 such washing  

machine? 

9. A school purchased 10 smart boards for Rs. 55,310 each. Find the cost of all the  

boards. 

10. Rita has 27 toys and her brother has 42. What is the total number of toys they    

have? 

 

  

                             

 


